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Turning to the initial coordinate system Irom formulas (5) and (6),

us note that due to the orthogonality of the coordinate transformation

let
Ay B, I, =Ry, dzdyd3 = dzdyds,
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and F_ are equal, respectively, to the right sides of egua-t
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tions (7) with the elimination of primes on all letters.

Then,
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When solving the problem for a half-spcae we will consider that when

0, &, = 0. Separating in (11) the integrals which are functions of

z and z!', we czn represent them thus:
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requiring that
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ve have--?(z') < ?( z') = 0 l.e.,.
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T‘i, indicates that for a half-space in formula (ll) ve should consider

. ‘une i'xtct_,rals of me examined type equal to
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